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Sk 1 P(E) = 0.73, then prdlﬂbﬂﬂfﬂlmﬁ o
(A) 0.3 (B 027
(C) 025 (D) 0.537

2. Yamuna river entérns Haryana near
forost.
(A) Kalesar (8) Bandipur
C) Gir (D) Satpura

3. Which of the following materials has lower
resistivity ?
(A) Silvar {B) Constantan
(C) Manganin (D) Ginss

4. Arrange the following in the chronological
order.
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8. Considerthe lollowing state
nuclear minerals and
stations.

menls fegarding
Nuclear POwer

1. In Rajasthan and Jharkhand we have

large deposits of Uranium minerals

2. Kerala has large deposit of

: Thorum
material.

3. As of today Orissa State has no
nuclear power station.

Which ot the following I nol correct ?
(A) 1 only (B)..2 only
(C) 3only (D) none

10. Regarding lood, Haryana is called as

{A) Land of roses
(8) Land of thorns
(C) Land aof smiles

(D) Land of rotis

na?
e P
(C) Sonipal (D) Biv.?.*anl e
12, Find the number which is not like the
gt (B) 12448
(A) 12336 & Jesr2

(C) 12556
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24. Complete the analogy.
Geometry : Euclid: : Co-ordinate Geomelry ?

(A) Rene Descartles

(B) Euler
(C) Cantor
(D) Newton

25. Bleaching powder is
(A) CaOClI (8) CaOCI,

(C) CaO.Cl (D) CaO.Cl,

26. Several Ganas used 10 make a
(A) Mandal (B) District
(C) Sangha (D) Hobali

27. Which of the following cities is famously
called * Scotland of India' 7
(A) Shimia
(B) Kodagu (Coorg)

‘cl Oﬂﬂ- - —
(D) Darfesling _—
] T —

28. InOctober 19 AStamonmm
was held by Lala Lajpat Ral and was called
as
(A) Quit India
(B) Azad Hind
(C) Swadeshi Andolan
(D) Sathyagraha

2. Findthe missing efters (7)from the options
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(D) none of these
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Home Rule League Agitation
(A) Vivekananda

(B) Sister Nivedita

(C) M.K. Gandhi

(D) Annie Basant

was 5in ey L]v

If21% of July was Saturda
of the same year was
(A) Wednesday

(C) Saturday

y then 4* July was

(B) Thursday
(D) Tuesday

(A) 10° channel

(B) 8°channel
(C) 8° channel

(D) 12° channel

The distance between the poims (a+b, a-b)
and (a-b, a +b) are

(A) O (B) a+b

(C) JBU™SSS =) none of these-.

The age ofafather is equal {6 the sum 6t

the ages ofhis'5 children.. After 15 years,
the sum of the ages of the children will be
twice the age of the father. Find the age of

the father.
(A) 40 years
(C) 48 years

(B) 45 years
(D) 50 years

Which State in the following lies to the east

of Haryana ?

(A) Rajasthan

(B) Uttar Pradesh

(C) Himachal Pradesh

(D) Punjab

Three cubes each of the side 1.5 cm are

joined end to end. the surface area of
resulting solidls

(A) .“2%9750""' (8) 3150,“:

() 30250m* (D) 32cm®
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38. Which of the following form a

1.

an AP 7

(A) 1,1,2,23 3
(8) 03,033 0333

(C) 2.2,242,4..
(D) 7,7442,7+2¥2,74 32 ...

If '+' means 'x’, '~ meaans '+, ‘x’ means '~
and "+’ means ‘+ then 10+4x25-5+8=
(8) 53

(D) none of these

(A) 48
(C) 35

The lamous actrass Juhi Chawla is lrom

district of Haryana,
{A) Pinjore (B) Rohtak
{C) Sonnet (D) Ambala

The High Court building of Chandigarh was

e " —

{Am LutyeF" = —
tﬂmbumf S —
_(0 Laurie Baker
(D) Cornwallies
:E r‘lﬁ&lﬂ circle inscribed In a square of
side &'em is
-um’ ® % om?

{A}r Saranath '

() Sugh ®) Kurukshetra

(T
g7 frefefir 0 & -8 vk JRR 2ef wamy,

(A) 1,1,2,2,3.3
(B} 0.3.0.33,0.333,...

(C) V2,2,2V2,4,..
(D) 7.7+V2,7+2J2,7+3J2 .
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47. Which of the following statement/s is/are }?/ m“‘%ﬂmmﬁn Hficiian #

true Wwemmpiasmmb am-mm g R? :
sterility 2o J— ‘

(A) Cytoplasmic male sterility is totaror-

partial male sterility in plants. .
(B) This phenomenon has a wider
application in plant breeding. .
C) Both A and B are correct A |
ED; Both A and B are wrong (D) Amamﬁmﬁ .
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bslet traln projoct 1s fundied bY
(A) Germany (8) Seuth Korea
(C] japan ‘.D] France

51, memmwmmm

mnq-:wmlmm larger to smallest
quaniy.ct wsissin K acd asteot Vs i |

of 7 pariamentary Commitiee.
(A) Sardar Hukum Singh

(B) Tara Singh

(C) Chotu Ram

(D) Chaudhary Devi Lal

ll‘lGE'tsqmeduu?man‘TEA'mcodod
as

(A} 18 (8) 19

(C) 26 0y 27

Which of the following Viceroy was
(A)_Lord Curzon (B) Lord Ripon

(C)mOIGEVION edD), Lord Mayo |

B, 44278 18,0,7 T s

() 20 ® 25
© 27 (D) 30
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Thanasar ruled h‘f Harsh

aVvardh
was in the vicinity of '

an a "\'.Alx.;] '

(A) Kurukshetra (8) Ambala “

C) Biwani '
( (D) DEII'HZI']H.JIQ

Haryanaisthe
State in India

(A) 167

(C) 15"

MOst populous

|

(B) 17 |
(D) 14¢

The eleventh State Assembly election took

place during |

(A) 2013
(C) 2015

(B) 2014
(D) 2018

By the 1930s, the Congress had accepted
that Hindustani ought to be the national
language, Hindustani is a blend of

(A) Sanskrit and Hindi

(B) Hindi and Urdu

(C) Sanskmtand Urdu

(D) Sanskit, Hindi and Urdu

On which of the following hill range 15 the
‘Doddabetta’ peak situated 7

(A) Nilgiri hills

(B) Cardamom hills

(C) Annamalai hilis

(D) Nallamala hills

State shares I8 boundary Wwith

Haryana

number of States.
(A) 5 (B) 6
(C) 4 (D) 3

ie imilar 1o plasma

he fluid tissue similar pres
:13;?:031:“‘ colourless and contains less
e (B) Dialysing I{Iuid
(A) Platelets o i

(C) Lymph
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64 a\'::: :ifmzca 0 m farming In India
20 is.
‘ ' following statemen
. in agriculture

1. Ntledtogreen rgvolution
ions in 1850's.

2, :i:ﬁdm;tuced the High Yielding Varieties
(HYV) of wheat seeds only.

3. Farmers of Punjab, Haryana and
Western Uttar Pradesh were the first
to try out the modem farming mathod
in India.

4. HYV sseds, however, needed plenty
of water and also chemical fertilizers
and pesticides.

Which of the above are true ?
(A) 2 3and4
(B) 1,2and3
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English Language
the alternative that is opposite in
_ the given word. meanva| - 16 ) to go out, but | had 100 much
Pl work.
g/ \F1onary Al hoping
V' (A) Mislead tB Opmi "
(B) Restricted (B) have hope
(C) Complete (C) have been hopingd
(D) Mysterious (D) had been hoping
\y0. Perilous Give single words for each of the following
{ﬁ) Fine (B) Delicate , .
expressions.
{C) Heallhv [D] Safe P
! 75. Incapable of making mistakes or doing
Use the appropriate modals to {ill in the blanks.
wrong.
T You have written 1o him yesterday. (A) lliterate
(A) oughtto (8) Infidel §
(8) dare . = (C) lnialitle .
) will — (D) Ipeligible | \
(D) needis o S “ Aircraft with tWo pairs of wings, one above
2/ fyou see him, give him MYy H°r 3 e
e (A Biplane | 1K
r 5. il -
SN (B) Biography
- moe (C) Biology
(B) should (D) Biopic
(C) will .
- Fill in the blanks with correct oplons.
D) wo
©) mvmﬂmmg\m\ 77, I¥s very kind of you to : to speak
Choose the correct for™ " atthe meeting,
i ? (A) Divide ®) Comply
: yet ‘ ) Den
?{ 1o the ban manage’ (C) Agree (D) ¥
1ing Thebamﬁmopmﬁuﬁﬂummﬁ'"
(A) Havafoum""wﬂ > wasableto
(B) Do you W (A) tie with (B) teup
(€ Ha“youwﬁm" (C) tieon (D) tie down
U
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